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Algebra 1

Practice Assignment #2

Name___________________________________

Date________________  Period____

-1-

Simplify.  Your answer should contain only positive exponents.

1)  
a−2b−1

a3b−2 ⋅ (ab−3)4

b13

a9

2)  
x−4y−2 ⋅ xy2

(x−1y−1)2

y2

x

3)  
b4 ⋅ (2a−1)4

2a3

8b4

a7

4)  
2x0y0 ⋅ x−4y3

(x3y−1)−1

2y2

x

5)  ( u3v3

2u−1v2 ⋅ 2u3)−1

4

uv

6)  
2y2 ⋅ (yx0)−4

2x2

1

y2x2
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7)  ( x3y−4

(2xy)0 ⋅ (x3y2)3)0

1

8)  
(2a3b3)4

a2b2 ⋅ 2ab−4

8b14a9

9)  
2v ⋅ u0v−4

(u2)4

2

v3u8

10)  (2v4 ⋅ 2u−1v4

2u−1v2 )3

8v18

Simplify.  Write each answer in scientific notation.

11)  (1.6 × 10−1)(6.8 × 10−2)
1.088 × 10−2

12)  (3.1 × 10−5)(2 × 10−1)
6.2 × 10−6

13)  
9.05 × 103

5 × 10−5

1.81 × 108

14)  
3.9 × 100

9.3 × 101

4.194 × 10−2


